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Complete the third term of this growing pattern.
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Use these elements. Create a core so the tenth term
of the pattern will be a 50c coin.
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Use these elements. Create a core where even
numbered terms will be strawberries or pears.
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Use these elements. Create a core so that terms 3, 6
and 9 will be the same element.
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Here is a repeating pattern core. What element will
be the tenth term?
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Here is a repeating pattern core. Will term 8 and
term 12 be the same element?
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Here is a repeating pattern core. How many blue
buttons will there be if | create a pattern 12 terms
long?
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Here is a growing pattern. How many orange
triangles will be in the fifth term?

Here is a growing pattern. | have 8 pink stars left. Do
| have enough stars to create the next term?




